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But it was taught to be similar to 2°5¥31 nIRT»

OVERVIEW

The X773 stated that the '7 37w '2 MX°X> (mentioned in MYAW N20R) is XA1A? 121D
since it is compared to 2°v31 MR which is (also) 82117 11212, Seemingly the other
'7 370 "2 mentioned in the mwn are also R2avn? 17710, why single out D931 MRA?!
mooin clarifies this issue.

Moo responds to an anticipated question:'
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The reason he mentioned 2°¥31 MR9% rather than myaw and (ARNIVT) NIWIT, is-
— N2PND 1NDID IND NNT )P KD 117991) 1NIONT DIVN

Because we (only) know that m¥12% and my>7> are totally cases of 2197 -

:3D’)’M NN 92 IR NN 179197 NP DIYIN) NININYT NMITT DIVN NON
Only because they are to be compared to 2>y nIXa% which is unquestionably
821117 11912; for regarding nyaw and My there are arguments whether the four

cases the mwn mentions are X21°17 11210, except for 2%Y31 NINM where all agree that
all four D°V21 NIRAN are RNPNRTH KHLA.

SUMMARY
We know that all the cases of the mwn are X212 11212 for we compare them all to
Q°Va1 NIROA.

THINKING IT OVER
*"p and this N0 both deal with the same question. Are their answers identical
or different?

' See ‘Overview’ and X7 X7 77"7 ",

* Regarding my1aw there is the view of YXymw» " that a 92yw 7¥12W is not 12772 27 (only X272), and regarding
TRMIVT M7 there is the view of X2°pY ' that there is no 1277 by w1 wipn 077 (only by nxmv o5vi). The xin of
the 71wn, however, disagrees with *"9 and ¥, respectively.

? We know that the Xin of this 73wn maintains that X211 %7212 (not like ¥" *"1 mentioned in the previous footnote #
2), since the Xin includes 2°¥31 MRIM among those of 7 17w '3, and regarding D°v31 M A all agree that R21n? 17213,
therefore we assume that all the other '7 J7w '3 are also ¥211% 11215. When the &713 explained how we know that naw
is R21m? 17713 it mentioned 2°¥31 MK which is the basis how we know that all the others (including my>71 nwaw)
are also X212 170,
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